
NO. 1400

HYDRAULIC LUBRICATION GUN

MAINTENANCE MANUAL

Providing Solutions, Products and Training

www.valtex.com

“J” SIZE CARTON (16 STICKS)
FOR HYDRAULIC GUN

APPROX. 8 LBS./3.63 KILOS (NET)

“K” SIZE CARTON (12 STICKS)
FOR SCREW PRIME GUN

APPROX. 8 LBS./3.63 KILOS (NET)

“P” SIZE CARTON (16 LUBE PACKS)
FOR HYDRAULIC GUN

APPROX. 8 LBS./3.63 KILOS (NET)

5 QT. CAN
10 LBS./4.53 KILOS

5 GAL PAIL
40 LBS./18 KILOS

16 GAL DRUM
120 LBS./54.43 KILOS

Auxillary
Fittings

Capped
Fittings

TDC-14   TDC-38   TDC-12           SS-14    SS-38     SS-12             AF-1          AF-2       CF-14  CF-38  CF-12
and      and   and  

CF-14-GB  CF-38-GB CF-12-GB

NPSM NPT

QS-2000A
AIR OPERATED-FOR STICK OR BULK

VALVE FLUSH QS-5000
AIR OPERATED-FOR STICK OR BULK

VAL-TEX
THE ANSWER IS -

VAL-TEX PRODUCTS AND TRAINING

VALVE LUBE SEALANTS
STICK FORM

LUBE SEALANT FITTINGS & ADAPTERS

SC-14
and

DC-14

SC-38
and

DC-38

NPT

SC-12
and

DC-12

SC-18 DC-34

FAST EFFORTLESS INJECTION PREFERRED BY HIGH VOLUME USERS

LARGE 5 LB. CAPACITYCOM
PA

CT

BB-38      BB-12        BB-1                             PI-38        PI-12                                 PRT-12                 ZERK      WKM #1  WKM #2                   CIW #1  CIW #2   CIW #3
(3/8” NPT )  (1/2” NPT)     (1” NPT) (3/8” NPT)    (1/2” NPT) ADAPTER       

Body Bleed              Packing Injectors             Tool                                         Adapters

Giant Button Head Fittings

LUBE PACK FORM BULK FORM

ValTex 6pgr 1107rd2  11/21/07  3:44 AM  Page 2



1-03 6-S Spring 29 1411-FC Check Valve Screw
1-04 5N Nylon Washer 29A 1411-FE Filter Screen
1-05 6-B Body 30 1411-G By-Pass Valve Assy.
2 43379 No. 6 G.B. Coupler Adapter 31                1411-H By-Pass Stop
3 20 Hose Center Only 32 1411-I Cap Screw No. 8-32NC
4 16-D H.P. Ball Bearing Swivel 33 1411-J Internal Hydraulic Relief
5 .25 TEE High Pressure Hose Tee 34 1411-K O-ring 6227-3
6 301296 Hose Tee Adapter 35 1412 Fulcrum Assy.

* 6A 1420 Lube Pack Adapter 36 1413 Handle
7 15MGF High Pressure Gauge 37 1414-A Links (2)
8 1407 Grease Barrel Cap 38 1414-B Stripper Bolt
9 1408 Piston Assembly 39 1414-C Lock Nut
10 1408-A Cap Screw 1/4”-28NF 39A 1414-D Stop Link
11 1408-B O-ring 70-010 39B 1414-E Link Washer 7/16” x 3/16”
11A 1408-BA Copper Washer 40 1415 Fluid Bag, Seal Ring,  
12 1408-C Outer Washer Nut 41 1416 Fluid Bag Barrel

* 12A   1421       Outer Washer Nut for Lube Pack Bleeder Assy.
13 1408-D Outer Hydraulic Cup 42 1417 Fluid Bag Barrel Cap
14 1408-E Piston 43 1418-A Cap Screw
15 1408-F O-ring 6227-24 44 1418-B Latch Sleeve
15A 1408-G O-ring 70-012 45 1418-C Latch Arm
16 1408-H Inner Hydraulic Cup 46 1418-D Retaining Ring
17 1408-I Inner Washer Nut 47 1418-E Spring
18 1409 Grease Barrel 48 1418-F Latch Screw
19 1410 O-ring 6227-9 49 1418-G Stem & Knob Assy.
20 1411 Body Assy., Items 21 Thru 34 50 1418-H Spring
21 1411-A Body 51 1418 Latch Assy., Items43Thru 50
22 1411-B Hydraulic Pump Cylinder 521419 Filter Screen
23 1411-C O-ring 6227-15 OPTIONS:
24 1411-D O-ring 6227-10 UCON-500       Quart of Hydraulic Fluid
25 1411-E Pump Piston GC-250            Gauge Guard

Item Part Item Part
No. No. Description No. No. Description

* Items 6A & 12A needed to convert older guns to use Lube Packs.

1 6 Giant Buttonhead Coupler
1-01 6-C Cap
1-02 6-G Gasket

26 1411-FA Washer 1/4” x 1/32”
27 1411-FB Ball 1/4” O|
28 1411-FC Spring
29 1411-FD Check Valve Screw
29A 1411-FE Filter Screen
30 1411-G By-Pass Valve Assy.
31 1411-H By-Pass Stop
32 1411-I Cap Screw No. 8-32NC
33 1411-J Internal Hydraulic Relief
34 1411-K O-ring 6227-3
35 1412 Fulcrum Assy.
36 1413 Handle
37 1414-A Links (2)
38 1414-B Stripper Bolt
39 1414-C Lock Nut
39A 1414-D Stop Link
39B 1414-E Link Washer 7/16” x 3/16”
40 1415 Fluid Bag, Seal Ring,

Bleeder Assy.
41 1416 Fluid Bag Barrel
42 1417 Fluid Bag Barrel Cap
52 1419 Filter Screen

OPTIONS:
UCON-500 Quart of Hydraulic Fluid
CT-LOADER Cartridge Loader
GC -250 Gauge Guard 
GUN CASE Hydraulic Gun Case
1422 Carrying Strap 
1413-R Handle Retention Rope 
319700 Shut-off / Bleeder Valve
52752 Z - Swivel

Various Hose Lengths 

▲+
▲

▲

▲+
▲+
▲

▲+

▲
▲+
▲+

▲

▲+

▲

▲

▲ Kit #1      + Kit #2 

ValTex 6pgr 1107rd2  11/21/07  3:44 AM  Page 1



1-03 6-S Spring 29 1411-FC Check Valve Screw
1-04 5N Nylon Washer 29A 1411-FE Filter Screen
1-05 6-B Body 30 1411-G By-Pass Valve Assy.
2 43379 No. 6 G.B. Coupler Adapter 31                1411-H By-Pass Stop
3 20 Hose Center Only 32 1411-I Cap Screw No. 8-32NC
4 16-D H.P. Ball Bearing Swivel 33 1411-J Internal Hydraulic Relief
5 .25 TEE High Pressure Hose Tee 34 1411-K O-ring 6227-3
6 301296 Hose Tee Adapter 35 1412 Fulcrum Assy.

* 6A 1420 Lube Pack Adapter 36 1413 Handle
7 15MGF High Pressure Gauge 37 1414-A Links (2)
8 1407 Grease Barrel Cap 38 1414-B Stripper Bolt
9 1408 Piston Assembly 39 1414-C Lock Nut
10 1408-A Cap Screw 1/4”-28NF 39A 1414-D Stop Link
11 1408-B O-ring 70-010 39B 1414-E Link Washer 7/16” x 3/16”
11A 1408-BA Copper Washer 40 1415 Fluid Bag, Seal Ring,  
12 1408-C Outer Washer Nut 41 1416 Fluid Bag Barrel

* 12A   1421       Outer Washer Nut for Lube Pack Bleeder Assy.
13 1408-D Outer Hydraulic Cup 42 1417 Fluid Bag Barrel Cap
14 1408-E Piston 43 1418-A Cap Screw
15 1408-F O-ring 6227-24 44 1418-B Latch Sleeve
15A 1408-G O-ring 70-012 45 1418-C Latch Arm
16 1408-H Inner Hydraulic Cup 46 1418-D Retaining Ring
17 1408-I Inner Washer Nut 47 1418-E Spring
18 1409 Grease Barrel 48 1418-F Latch Screw
19 1410 O-ring 6227-9 49 1418-G Stem & Knob Assy.
20 1411 Body Assy., Items 21 Thru 34 50 1418-H Spring
21 1411-A Body 51 1418 Latch Assy., Items43Thru 50
22 1411-B Hydraulic Pump Cylinder 521419 Filter Screen
23 1411-C O-ring 6227-15 OPTIONS:
24 1411-D O-ring 6227-10 UCON-500       Quart of Hydraulic Fluid
25 1411-E Pump Piston GC-250            Gauge Guard

Item Part Item Part
No. No. Description No. No. Description

* Items 6A & 12A needed to convert older guns to use Lube Packs.

1 6 Giant Buttonhead Coupler
1-01 6-C Cap
1-02 6-G Gasket

26 1411-FA Washer 1/4” x 1/32”
27 1411-FB Ball 1/4” O|
28 1411-FC Spring
29 1411-FD Check Valve Screw
29A 1411-FE Filter Screen
30 1411-G By-Pass Valve Assy.
31 1411-H By-Pass Stop
32 1411-I Cap Screw No. 8-32NC
33 1411-J Internal Hydraulic Relief
34 1411-K O-ring 6227-3
35 1412 Fulcrum Assy.
36 1413 Handle
37 1414-A Links (2)
38 1414-B Stripper Bolt
39 1414-C Lock Nut
39A 1414-D Stop Link
39B 1414-E Link Washer 7/16” x 3/16”
40 1415 Fluid Bag, Seal Ring,

Bleeder Assy.
41 1416 Fluid Bag Barrel
42 1417 Fluid Bag Barrel Cap
52 1419 Filter Screen

OPTIONS:
UCON-500 Quart of Hydraulic Fluid
CT-LOADER Cartridge Loader
GC -250 Gauge Guard 
GUN CASE Hydraulic Gun Case
1422 Carrying Strap 
1413-R Handle Retention Rope 
319700 Shut-off / Bleeder Valve
52752 Z - Swivel

Various Hose Lengths 

▲+
▲

▲

▲+
▲+
▲

▲+

▲
▲+
▲+

▲

▲+

▲

▲

▲ Kit #1      + Kit #2 

ValTex 6pgr 1107rd2  11/21/07  3:44 AM  Page 1



1-03 6-S Spring 29 1411-FC Check Valve Screw
1-04 5N Nylon Washer 29A 1411-FE Filter Screen
1-05 6-B Body 30 1411-G By-Pass Valve Assy.
2 43379 No. 6 G.B. Coupler Adapter 31                1411-H By-Pass Stop
3 20 Hose Center Only 32 1411-I Cap Screw No. 8-32NC
4 16-D H.P. Ball Bearing Swivel 33 1411-J Internal Hydraulic Relief
5 .25 TEE High Pressure Hose Tee 34 1411-K O-ring 6227-3
6 301296 Hose Tee Adapter 35 1412 Fulcrum Assy.

* 6A 1420 Lube Pack Adapter 36 1413 Handle
7 15MGF High Pressure Gauge 37 1414-A Links (2)
8 1407 Grease Barrel Cap 38 1414-B Stripper Bolt
9 1408 Piston Assembly 39 1414-C Lock Nut
10 1408-A Cap Screw 1/4”-28NF 39A 1414-D Stop Link
11 1408-B O-ring 70-010 39B 1414-E Link Washer 7/16” x 3/16”
11A 1408-BA Copper Washer 40 1415 Fluid Bag, Seal Ring,  
12 1408-C Outer Washer Nut 41 1416 Fluid Bag Barrel

* 12A   1421       Outer Washer Nut for Lube Pack Bleeder Assy.
13 1408-D Outer Hydraulic Cup 42 1417 Fluid Bag Barrel Cap
14 1408-E Piston 43 1418-A Cap Screw
15 1408-F O-ring 6227-24 44 1418-B Latch Sleeve
15A 1408-G O-ring 70-012 45 1418-C Latch Arm
16 1408-H Inner Hydraulic Cup 46 1418-D Retaining Ring
17 1408-I Inner Washer Nut 47 1418-E Spring
18 1409 Grease Barrel 48 1418-F Latch Screw
19 1410 O-ring 6227-9 49 1418-G Stem & Knob Assy.
20 1411 Body Assy., Items 21 Thru 34 50 1418-H Spring
21 1411-A Body 51 1418 Latch Assy., Items43Thru 50
22 1411-B Hydraulic Pump Cylinder 521419 Filter Screen
23 1411-C O-ring 6227-15 OPTIONS:
24 1411-D O-ring 6227-10 UCON-500       Quart of Hydraulic Fluid
25 1411-E Pump Piston GC-250            Gauge Guard

Item Part Item Part
No. No. Description No. No. Description

* Items 6A & 12A needed to convert older guns to use Lube Packs.

1 6 Giant Buttonhead Coupler
1-01 6-C Cap
1-02 6-G Gasket

26 1411-FA Washer 1/4” x 1/32”
27 1411-FB Ball 1/4” O|
28 1411-FC Spring
29 1411-FD Check Valve Screw
29A 1411-FE Filter Screen
30 1411-G By-Pass Valve Assy.
31 1411-H By-Pass Stop
32 1411-I Cap Screw No. 8-32NC
33 1411-J Internal Hydraulic Relief
34 1411-K O-ring 6227-3
35 1412 Fulcrum Assy.
36 1413 Handle
37 1414-A Links (2)
38 1414-B Stripper Bolt
39 1414-C Lock Nut
39A 1414-D Stop Link
39B 1414-E Link Washer 7/16” x 3/16”
40 1415 Fluid Bag, Seal Ring,

Bleeder Assy.
41 1416 Fluid Bag Barrel
42 1417 Fluid Bag Barrel Cap
52 1419 Filter Screen

OPTIONS:
UCON-500 Quart of Hydraulic Fluid
CT-LOADER Cartridge Loader
GC -250 Gauge Guard 
GUN CASE Hydraulic Gun Case
1422 Carrying Strap 
1413-R Handle Retention Rope 
319700 Shut-off / Bleeder Valve
52752 Z - Swivel

Various Hose Lengths 

▲+
▲

▲

▲+
▲+
▲

▲+

▲
▲+
▲+

▲

▲+

▲

▲

▲ Kit #1      + Kit #2 

ValTex 6pgr 1107rd2  11/21/07  3:44 AM  Page 1



NO. 1400

HYDRAULIC LUBRICATION GUN

MAINTENANCE MANUAL

Providing Solutions, Products and Training

www.valtex.com

“J” SIZE CARTON (16 STICKS)
FOR HYDRAULIC GUN

APPROX. 8 LBS./3.63 KILOS (NET)

“K” SIZE CARTON (12 STICKS)
FOR SCREW PRIME GUN

APPROX. 8 LBS./3.63 KILOS (NET)

“P” SIZE CARTON (16 LUBE PACKS)
FOR HYDRAULIC GUN

APPROX. 8 LBS./3.63 KILOS (NET)

5 QT. CAN
10 LBS./4.53 KILOS

5 GAL PAIL
40 LBS./18 KILOS

16 GAL DRUM
120 LBS./54.43 KILOS

Auxillary
Fittings

Capped
Fittings

TDC-14   TDC-38   TDC-12           SS-14    SS-38     SS-12             AF-1          AF-2       CF-14  CF-38  CF-12
and      and   and  

CF-14-GB  CF-38-GB CF-12-GB

NPSM NPT

QS-2000A
AIR OPERATED-FOR STICK OR BULK

VALVE FLUSH QS-5000
AIR OPERATED-FOR STICK OR BULK

VAL-TEX
THE ANSWER IS -

VAL-TEX PRODUCTS AND TRAINING

VALVE LUBE SEALANTS
STICK FORM

LUBE SEALANT FITTINGS & ADAPTERS

SC-14
and

DC-14

SC-38
and

DC-38

NPT

SC-12
and

DC-12

SC-18 DC-34

FAST EFFORTLESS INJECTION PREFERRED BY HIGH VOLUME USERS

LARGE 5 LB. CAPACITYCOM
PA

CT

BB-38      BB-12        BB-1                             PI-38        PI-12                                 PRT-12                 ZERK      WKM #1  WKM #2                   CIW #1  CIW #2   CIW #3
(3/8” NPT )  (1/2” NPT)     (1” NPT) (3/8” NPT)    (1/2” NPT) ADAPTER       

Body Bleed              Packing Injectors             Tool                                         Adapters

Giant Button Head Fittings

LUBE PACK FORM BULK FORM

ValTex 6pgr 1107rd2  11/21/07  3:44 AM  Page 2



NO. 1400

HYDRAULIC LUBRICATION GUN

MAINTENANCE MANUAL

Providing Solutions, Products and Training

www.valtex.com

“J” SIZE CARTON (16 STICKS)
FOR HYDRAULIC GUN

APPROX. 8 LBS./3.63 KILOS (NET)

“K” SIZE CARTON (12 STICKS)
FOR SCREW PRIME GUN

APPROX. 8 LBS./3.63 KILOS (NET)

“P” SIZE CARTON (16 LUBE PACKS)
FOR HYDRAULIC GUN

APPROX. 8 LBS./3.63 KILOS (NET)

5 QT. CAN
10 LBS./4.53 KILOS

5 GAL PAIL
40 LBS./18 KILOS

16 GAL DRUM
120 LBS./54.43 KILOS

Auxillary
Fittings

Capped
Fittings

TDC-14   TDC-38   TDC-12           SS-14    SS-38     SS-12             AF-1          AF-2       CF-14  CF-38  CF-12
and      and   and  

CF-14-GB  CF-38-GB CF-12-GB

NPSM NPT

QS-2000A
AIR OPERATED-FOR STICK OR BULK

VALVE FLUSH QS-5000
AIR OPERATED-FOR STICK OR BULK

VAL-TEX
THE ANSWER IS -

VAL-TEX PRODUCTS AND TRAINING

VALVE LUBE SEALANTS
STICK FORM

LUBE SEALANT FITTINGS & ADAPTERS

SC-14
and

DC-14

SC-38
and

DC-38

NPT

SC-12
and

DC-12

SC-18 DC-34

FAST EFFORTLESS INJECTION PREFERRED BY HIGH VOLUME USERS

LARGE 5 LB. CAPACITYCOM
PA

CT

BB-38      BB-12        BB-1                             PI-38        PI-12                                 PRT-12                 ZERK      WKM #1  WKM #2                   CIW #1  CIW #2   CIW #3
(3/8” NPT )  (1/2” NPT)     (1” NPT) (3/8” NPT)    (1/2” NPT) ADAPTER       

Body Bleed              Packing Injectors             Tool                                         Adapters

Giant Button Head Fittings

LUBE PACK FORM BULK FORM

ValTex 6pgr 1107rd2  11/21/07  3:44 AM  Page 2


